
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 

SOLUȚIE
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A = {x ∈ N | x = n2 + n+ 2, n ∈ N, n ≤ 99}
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B = {y ∈ N | y = 2p + 1, p ∈ N, p ≤ 100}.

�	����	�� �	����	��� �������� A ∪B�

��
��	�� �
���� n = 0 �
���
� x = 2� �
���� ����
 n ≥ 1 	�
�

x = n(n+ 1) + 2� �
 ���
 �
���
� �� x 
��
 ����� �	��

�
���� p = 0 �
���
� y = 2� �
���� ����
 p ≥ 1 �
���
� �� y 
��


���	��

�� ��������
 A ∩B = {2}
����� |M | �	����	��� �������� M �

��
� |A| = 100� |B| = 101 �� |A ∩B| = 1�
��� |A ∪B| = |A|+ |B| − |A ∩B| �
���
� |A ∪B| = 200�

�

Problema 4, Clasa a VI-a
Etapa 1, Ediția a XIII-a


